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Modello base - 1
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Modello base - 2

task type Operator is
entry Query (A_Person   : in Name;

An_Address : in Address;
A_Number   : out Number);

end Operator;
Ann : Operator;

task type User;
task body User is
My_Number : Number;

begin
…
Ann.Query(

“…”, “…”, 
My_Number);

…
end User;

task body Operator is
begin

…
loop

accept Query(A_Person   : in Name;
An_Address : in Address;
A_Number   : out Number) do

…

end loop;
…

end Operator;
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Modello base - 3
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Modello base - 4
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Modello base - 5
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accept Req(…)

Servente.Req(…)����������in
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accept Req(…)

Servente.Req(…)
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Esempio - 1
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Esempio - 2
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Sincronizzazione tripartita - 1
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Sincronizzazione tripartita - 2
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Sincronizzazione tripartita - 3
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Sincronizzazione tripartita - 4

task User;
task Device;
task Controller is
entry Service (I : out Integer);
entry Start;
entry Finish (K : Integer);

end Controller;

task body User is
…
Controller.Service(Val);
…

end User;

task body Device is
Val : Integer;
procedure Read (I : out Integer) is … ;

begin
loop
Controller.Start;
Read(Val);
Controller.Finish(Val);

end Device;

task body Controller is
begin
loop
accept Service (I : out Integer) do
accept Start;
accept Finish (K : Integer) do
I := K;

end Completed;
end Service;

end loop;
end Controller;
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Sincronizzazione tripartita - 5
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Sincronizzazione tripartita - 6

task Warehouse is
entry Enquiry (Item : Part_Number; 

In_Stock : out Boolean);
end Warehouse;

task Customer_Service is
entry Request_Part (Order : Part_Number;

Part  : Spare_Part;
Order : Order_Number);

end Customer_Service;

task body Customer_Service is
In_Stock : Boolean; 
…
begin
loop
…
accept Request_Part (Order : Part_Number;

Part  : Spare_Part;
Order : Order_Number) do

…
if In_Stock then
Part  := The_Part;
Order := None;

else
Warehouse.Enquiry(Order, In_Stock);
if In_Stock then
… -- go get found part from Warehouse
Part  := The_Part;
Order := Next_Order_Number;

end if;
end if;

end Request_Part;
end loop; 

end Customer_Service;
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Punti d'accesso privati - 1
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Punti d'accesso privati - 2

task body Controller is
task Device;
task body Device is
Val : Integer;
procedure Read (I : out Integer) is … ;

begin
loop
Controller.Start;
Read(Val);
Controller.Finish(Val);

end Device;
-- continues in sidebox

task User;
task Controller is
entry Service (I : out Integer);

private
entry Start;
entry Finish (K : Integer);

end Controller;

task body User is
…
Controller.Service(Val);
…

end User;

begin -- Controller
loop
accept Service (I : out Integer) do
accept Start;
accept Finish (K : Integer) do
I := K;
end Completed;

end Service;
end loop;

end Controller;
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Casi d’errore
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Stati d’esecuzione di processo
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